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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. All questions are compulsory.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) Differentiate between direct tax and indirect tax.

(b) Explain the purpose for levying taxes on different sections of the society.

OR
(a) What is the significance of indirect tax in the development of the economy.

(b) What are the methods for computation of value added tax. (7.5%x2=15)
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2. (a)

(b)

(a)

(b)

Mr. S purchased raw material for Rs. 3,00,000 plus VAT @ 4%. Out of
such raw material 60% was used for manufacture of taxable goods, and the
remaining for manufacture of goods which are exempt from VAT. Another
raw material was purchased for Rs. 1,50,000 at which VAT was paid @ 1%.
Entire raw material was used for manufacture for taxable goods only. The
entire taxable goods were sold for Rs. 10,00,000 plus VAT @ 12.5%.
Compute net VAT liability of S.

State benefits and drawbacks for a dealer who opts for composition scheme.
Who are not eligible for composition scheme under the VAT regime.

OR

X, a trader selling raw material to a manufacturer of finished products. He
imports stock-in-trade as well as purchases the same from the local markets.
With the help of following transactions calculate VAT and invoice value charged
by him from the manufacturer during the financial year 2014-15. Assume
VAT rate to be 12.50%.

Cost of imported material (from other state) excluding tax 1,00,000
Cost of local material, including VAT 2,25,000

Assume CST rate is 2%.

What is the procedure of self assessment under VAT ? (7.5x2=15)
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3. Discuss whether the following services are chargeable to service tax :

(M
(i1)
(111)
(iv)
V)

Service by way of transmission/ distribution of electricity by BSES.
S Ltd. charges Rs. 1 Lakh for storage and warehousing of turmeric.
S Ltd. charges Rs. 1 Lakh for storage of potato chips.
Roya.lt.ilireceived by an author for writing a book on criminal law.

Services provided to UNO ' (3x5=7.5)

OR

(a) Discuss the significance of Point of Taxation for an individual whose turnover

is not more than Rs. 45,00,000 every year. How would you determine Point
of Taxation in the case of change in effective rate of service tax ? Give
examples.
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(b) What is the role of Chartered Accountants in advising and assisting the tax

payers with regard to service tax ? (7.5%x2=15))
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4. (a) Explain procedure for e-filing of service tax return and e payment of service

tax.

(b) Give the meaning of declared service. Make a list of the declared services.
OR

(a) X is an insurance agent of SBI general insurance company Ltd. The amount
of commission upto March 31, 2014 was approximately Rs. 5,00,000 every .
year. During the financial year 2014-15, he is likely to get insurance
commission of Rs. 11,50,000 from the company. The assessee is of the view '
that out Rs. 11,50,000 Rs. 10,00,000 is not chargeable to service tax and
the balance of Rs. 1,50,000. Is he legally correct ? Can he claim small scale

service provider exemption ?
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Write a note on constitutional validity of service tax. (7.5%2=15)
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(a)

(b)

(a)

(b)

Supply of manpower services is provided by R (located in Bihar) to a foreign
company S Ltd. S Ltd has utilized the service for arranging security
arrangement around its commercial complex situated in Patna. Value of taxable
service is Rs. 12,00,000. Find out the amount of service tax and who wil]
be liable to pay tax ?

Whether Point of Taxation for a sole proprietor service provider or when
service provider is a company;, is the same or different.

OR

Discuss the significance of place of provision of service rules in computing
service tax liability.

Service provided in a non — taxable territory is not chargeable to tax. Give
five examples where service is utilised by the recipient of service in non -
taxable territory but it is chargeable to service tax. (7.5%2=15)
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